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a rationalnumber realnumber
b integer rationalnumber realnumber
c integer naturalnumber rationalnumber realnumber
d naturalnumberinteger rationalnumber realnumber
e naturalnumberinteger rationalnumber realnumber

f real number irrational number

g naturalnumberinteger rationalnumber realnumber
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9 Yes an item input only gets one price output

so assigning to an item its price is a function

b NO theremight be the price assigns to two differentitems
input outputs

c In la domain is items

d Inca range is prices

a Interest 0,82
1 Flint I 10 Millions

0,01X X 10Millions



since each or input onlygets one interest output so

it is afunction
b is 50,000 1M interest 0

ii 1M 5,000,000510M interest 514.0102 0.1 M
iii 1M IM interest 0

iv 30M 10M interest 30M O.cl 0.3M
v 1M 10M 10M interest 10M0,02 0.2M
Vi M C 2M 10M interest 2M 002 0,0414
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